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Q. Which of the following compounds is the most common compound that forms
Kidney stones?

(a) Calcium oxalate

(b) Magnesium oxide
(c) Sodium bicarbonate
(d) Magnesium citrate
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@dharmrajkumar4668 1 hour ago

A. W Calcium oxalate is the main constituent of most stones, many of which form on a
foundation of calcium phosphate called Randall's plagues, which are present on the
renal papillary surface.

e GF

@souvikchand 27 minutes ago

Ans - (a) Calcium Oxalate is the right option

when there are high levels of calcium oxalate in the kidney..it forms kidney stone which
is solid stone like substance

Thank you so much sir ji Ju oe O o v

e G

[@mansisharma7096 1 hour ago

Reply

Reply

The commaon compound that form kidney stones is due to:- Calcium oxalate
Topic for questions:- plant and animal kingdom

e GF

@NitishKumar-nrabp 58 minutes ago

Reply

More than 80% of the kidney stones are formed by calcium oxalate mix with calcium
phosphate..
So correct option would be option A& &

F - —n -

-

@sudeepkumarbiswas3790 1 hour ago
(A) Calcium Oxalate

e GF

@subhamambasta4314 38 minutes ago

Reply

Kidney stone:- calcium Oxalate+calcium phosphate
PH-6.4-6.8
05% water 2.3% urea..

e GF

@MahmudAnsari-fj2kq 29 minutes ago
Option A hoga sir
Calcium oxalate 151 bar Thank you sir @ @@

e GF

@piyushkumar1660 1 hour ago

Reply

Reply

Ans - calcium oxalate

e GF

Reply
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@aashikhussain7882 1 hour ago (edited)

HWAP PPV Y
Four Types of Kidney Stones
Calcium Stones
Cystine Stones..

&
s
£

Read more
e O

@AjaySharmalND 51 minutes ago
The correct option is A. Calcium Oxalate

e GF

@VivekKumar-le7pj 323 minutes ago

Reply

Reply

Calcium oxylate
e

(@pragyasrivastava3774 37 minutes ago

Reply

Calcium oxalate....

e GF

Reply

@kumaribyuti-om3we 1 hour ago

Aaaaaaaaa 108 baar P P PP PP
e OF

{@manadeep132 18 minutes ago
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@alok3.0kumar50 1 hour ago
Hw- acaaaaaaaa

e GF

Reply

Reply

Reply

{@ayushranjan728 13 hours ago
Kidney Stones- Calcium Oxalate CaC204

e’ G Repy

Addai24

@Akki-uréqgf 19 hours ago

Ans = A4 & Most kidney stones are composed of calcium and oxalate. I

Reply

e GF

{@pmurugananth9766 14 hours ago

Option (A) calcium oxalate
Thank you so much sir & & &

e GF

Reply

(@aryan365 18 hours ago
Home work @ calcium oxalate .,

e’ CF Repy

@alcivilianhub5571 11 hours ago
A. Calcium oxalate is correct answer Sir 4 u o
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@kumarimanisha9272 11 hours ago

Thank you sir &
e’ G Reply

@Takshak-_ 19 hours ago
Opt - A Calcium Oxalate.

il ' GF Reply

@anumallik8950 17 hours ago
Option (A) is the right answer, calcium oxalate

e G Reply

@souvikchand 19 hours ago

Sir luminous intensity se aya tha lekin wo to electrical ka utilisation wala portion tha %%

Pl Pl Pl Pl
W W F W aasasasa

il ' GF Reply

@914shivanshukumar? & hours ago
Calcium oxalate 4 @

e ' GJ Reply

@sonu-milzf 14 hours ago
Option : - A calcium oxalate is right answer

il ' GH Reply

[@_PRIMCE_SAHU. 18 hours ago

Aiscorrect,dearsr Y@@ L L LGS & L

4L 1 C1 Banly

sir 2T wise

@kumarimanisha9272 12 hours ago

Calcium oxalate
eGP Repy

@subir2536 20 hours ago
HW ans : a) Calcium Oxalate @ @ @ @

e’ CJ Reply

@avinashverma001 7 hours ago

Ans: Aaaaa hoga sir
Calcium oxalate @ @

e’ GCF Repy

{@pragyasrivastava3774 21 hours ago
Calcium oxalate....

e’ CJ Reply

@aryanbhagat2248 16 hours ago
Sir please bring questions of DFCCIL

e’ CP Repy

[@tathagatakonar6505 16 hours ago
ANS A 1S correct
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Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

@steininfant4536 14 hours ago
Ans: A

eGP Repy
[@pardeepkatwal8316 17 hours ag
A

e’ OGP Repy

@bijayyadav8056 12 hours ago
A right

il ' GH Reply

[@adityatiwari6986 20 hours ago
Calcium oxalate

il ' GH Reply

@pallavsarkar2966 19 hours ago
A

e 'GP Reply
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Q. Which of the following compounds is the most common compound that forms
Kidney stones?

(a) Calcium oxalate

(b) Magnesium oxide
(c) Sodium bicarbonate
(d) Magnesium citrate
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Q. When the temperature of a semiconductor is increased, its resistivity:
(a) Increases

(b) Sometimes increases, sometimes decreases
(c) Decreases

(d) Remains constant [SSC JE 30 OCT 2020 EVE]

q. S H9ATeled &l YA TSI ST &, af ST UfaRIeehdr:

(T) 9&T ©

(&) w3 dear &, H gedr ¢

(@) ge I ®

(3r) R wTar ® [SSC JE 30 OCT 2020 EVE]
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Q. Laxmeter Measures:
(a) sound density

(b) blood pressure

(c) knee ligament laxity

(d) heart beat [SSC JE 30 OCT 2020 EVE]

. deTaiey U
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Q. Among the following, whose calorific value is the highest?

(a) Biogas

(b) Hydrogen

(c) Methane

(d) LPG [SSCJE 29 OCT 2020 MORNING]

q. i@ & @ feaer vl A1 gad 31fQF §7

(T) I

() T

(&) AA=

() TSI [SSC JE 29 OCT 2020 MORNING]
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Q. Food is cooked faster in the pressure cooker due to the:

(a) Increase in the boiling point of water

(b) Release of steam by its whistle at regular intervals

(c) Heat remaining inside

(d) High amount of steam [SSC JE 29 OCT 2020 MORNING]

T. WX Phl H A il H TehdT & &lieh:

(T) Uil & FaUATh A gig

(@) RAIfAT e W gaHr A gRT AT Bigar

() 31eT I AW TEar

(3Y) g & AfAF AT [SSC JE 29 OCT 2020 MORNING]
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Q. The green plants convert solar energy into:

(a) Mechanical energy

(b) Light energy

(c) Chemical energy

(d) Biological energy [SSC JE 29 OCT 2020 MORNING]
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Q. Which among the following is a non-metal?

(a) Potassium

(b) Aluminium

(c) Magnesium

(d) Nitrogen [SSCJE 29 OCT 2020 MORNING]

¥. Aeafaf@d # @ Sla-W v 3rarg §7
(T) arefgH
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Q. What happens due to the Guttation process in the plants?

(a) Excess water is released from plants through leaves

(b) Food is released

(c) Dead plant cells are replaced by newer ones

(d) Oxygen is converted into food [SSC JE 29 OCT 2020 MORNING]

. Ol # I[EAT URhAT & HIROT AT BT &7

(T) diut & gfear & Aread | 3falke aeh Ade srar &

(@) AaaT IR fhar ST §©

(@) AT Uy PIARIHT BT TATT 75 PABT & AT §

(&) e Mo # gRafda & s § [SSC JE 29 OCT 2020 MORNING]
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Q. What makes the sky look blue
(a) The sky is made up of blue particles.
(b) Blue color predominates in the sky
(c) The blue wavelength is longer
(d) As the wavelength is low, blue colour scattering is easy
[SSCJE 29 OCT 2020 MORNING]

. 31TRIT Aelr g T fe@ar &7
(T) 3MTRIA ATl PO F T Tl
() 3MMepTRr & A [T Hr vUEAT §
(&) el aier 2 & §
(31) gfh aWT S FA §, sitel W1 BN Jhold A &
[SSC JE 29 OCT 2020 MORNING]
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Q. The relative humidity is measured with the help of
(a) Hygrometer

(b) Humidograph

(c) Tensiometer

(d) Piezoelectric meter [SSC JE 29 OCT 2020 MORNING]

O. G987 31T o P FERIAT ¥ AT AT §
(V) TBAMAT

CHIBGERIEY
(HY) efegaaex

&) desafdesd e [SSC JE 29 OCT 2020 MORNING]
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Q. Why one feels tired at the high mountain peaks?

(a) Because of high temperature

(b) Because of high pressure outside the body

(c) Because of low pressure outside the body

(d) Because of low temperature [SSC JE 29 OCT 2020 MORNING]

¥. 59 9dd TRAERT W Th T ATHH Bl &7

(T) 3T d9AT & PR

(&) R & IR 3T Sdd & PRT

(&) R & I HH S d & PROT

() HH dYATT & HROT [SSC JE 29 OCT 2020 MORNING]
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Q. What is the cell wall of a plant made of ?

(a) Cellulose

(b) Carbohydrates

(c) Lipids

(d) Lipoprotein [SSC JE 29 OCT 2020 MORNING]

7. 9l Fr PR A frad o= gt 82
(T) Tl

(1) PefeEse
(&) fafts

@) g [SSC JE 29 OCT 2020 MORNING]
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Q. What is considered as the normal systolic / diastolic blood pressure of a
human being?

(a) 180 / 80 mm of Hg
(b) 90 / 180 mm of Hg
(c) 200 / 150 mm of Hg

(d) 120 / 80 mm of Hg [SSC JE 29 OCT 2020 MORNING]

. AIST T AAE FAEiforeh/sReciferes e &=l AT STl 62
(T) 180/80 o TS

() 90/180 T T=ah

(HY) 200/150 T T

() 120/80 =T TT=i [SSC JE 29 OCT 2020 MORNING]
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Q. Through which of the following mediums do sound waves travel fastest at a
particular temperature?

(a) Vacuum

(b) Gaseous

(c¢) Liquid

(d) Solid [SSCJE 29 OCT 2020 MORNING]

uﬁmﬁﬁaﬁ@ﬁmwﬁﬁﬂﬁﬁrﬂqmﬁwwﬁmmaﬁ

@) 3 [SSC JE 29 OCT 2020 MORNING]
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Q. What is the reason of rising of oil in the wick in a lamp?

(a) Oil is very light

(b) Diffusion of oil through wick

(c) Capillary action

(d) Surface tension [SSC JE 29 OCT 2020 MORNING]

U. 81 T ardr H dof d&a BT FAT HIROT &7
(T) aa TodT &

() aTch & ATSIH § dd F AR

(HY) HiAepr fopar

() e I [SSC JE 29 OCT 2020 MORNING]
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Q. What is the chemical formula of sodium chloride?

(a) NaCl

(b) Na,Cl

(c) KMnO,4

(d) NacCl, [SSC JE 29 OCT 2020 MORNING]

0. QIf3THA FeiR13S & ARG T HT 87

(¥) NacCl

(fr) Na,Cl

(") KMnO,

(37) NaCl, [SSC JE 29 OCT 2020 MORNING]
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Q. Which human body organ is involved in the purification of blood?
(a) Heart

(b) Gall bladder
(c) Kidney
(d) Spleen

. ATTd NI T i AT 39T Th &b AFEAOT H ATASA har §7
(T) g

() T

GUREEGI

(3Y) Cefer

e
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Q. Tracheaisapartofthe ___ system of the human body.
(a) Cardiac

(b) Respiratory

(c) Excretory

(d) Digestive

. AThAe AT AR A UUTTell T Ueh T &l
(T) &g Ha<f

CIRCLG]

CGIERIEG]
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Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Tracheaisapartofthe ___ system of the human body.
(a) Cardiac

(b) Respiratory

(c) Excretory

(d) Digestive

. AThAe AT AR A UUTTell T Ueh T &l
(T) &g Ha<f

CIRCLG]

CGIERIEG]

(3Y) T

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max piscount Adda 24

Q. The maximum amount of air that can be exhaled after maximal inspiration, is
called

(a) Residual volume
(b) Tidal volume
(c) Basal volume

(d) Lung volume RRB JE 27.05.2019 (Shift-I)

. fAFdH OUM & a1 DN ST b dlell gl hr QAhdA AMET &

el AT &
(W) 3afye AET
() AT AT
(@) T afegH
&) BB Hr AT RRB JE 27.05.2019 (Shift-I)
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Q. Our lungs contain cells.
(a) 100 million
(b) 200 million
(c) 400 million
(d) 300 million

q. AR el A HIfAPrT gidr i
(T) 100 Afema
(r) 200 A=A
(#Y) 400 Ao
(31) 300 fAfer=

Adda
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